TOP

[ ] [ka/kg(DA)]| [kI/kg(DA)] HEAR
33.4 0.0189 81.6
26 0.0105 52.9 */h 18,630
0.8 0.0013 4.1 */h 11,350
22 0.0066 38.9 50
m/s 2.5
Pa 15
[ 1] kw 0.4
tSA=tOA-n (tOA-tRA) 33.4-0.5(33.4-26.0)=29.7
tOA [ ]
tRA [ 1/0.8-0.5(0.8-22.0)=11.4 n 0.5
[k/kg(DA)] = 1.64
SA=Xoa-n xOA-xRA 0.0189-0.5(0.0189-0.0105)=0.0147 3/h 18,630
[k3/kg(DA)] ¢/h 11,350
[kd/kg(DA)]|0.0013-0.5(0.0013-0.0066)=0.0040 () 297 |( ) 11.4
has [ki/kg(DA)] kg/kg(DA)|( ) 0.0147 |( ) 0.0040
hSA=hOAn (hOA-Hra) 81.6-0.5(18.6-52.9)=67.2 ki/kgDA)|( ) 67.2 |( ) 215
hOA [kd/kg(DA)]
hRA [ki/kg(DA)][4.1-0.5(4.1-38.9)=21.5
[mé/h]
[mé/h]
[ ]
[m/s]
[Pa]
[kW]
[ ®/h] [ */h] [ */h] [ */h] [ ®/h] [ ®/h] [ */h]
Bl AC-B1 3,960 560 450 2,750 3,760 200
1 AC-1 3,450 490 450 2,340 3,280 170
2 AC- 2 2,850 650 450 1,610 2,710 140
3 AC- 3 2,790 650 450 1,550 2,650 140
4 AC- 4 2,790 650 450 1,550 2,650 140
5 AC-5 2,790 650 450 1,550 2,650 140
18,630 3,650 2,700 11,350 17,700 930
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